
 

 

Υπολογισμοί πεπί λέξηρ τος Kolakoski 

 

Ν. Λςγεπόρ 

 

 Αλυάβητο: = {1,2} 

 

Λέξειρ      1) σ:  2,2  1,1  2  1 22  1  22 11  2 11 22 ...= WK 

                     Σ:   2     2    1  1  2   1   2   2   1  2   2 

 

               2) σ: 1    22   11...  =1 WK 

                   Σ: 1     2 

 

 Αλυάβητο: = {1,3} 
Λέξειρ:      1) σ:  333  111  333  1  3  1  333  111  333... 

                      Σ:    3      3      3    1  1  1    3      3      3 

 

Έστω:   WL= 333111333131 τότε έσοςμε 

                                       ̅̅ ̅̅  
 

       2) σ: 1  333  111 333 = WL 

                       Σ: 1    3      3     3   

 

 

 Αλυάβητο: = {2,3} 
Λέξειρ :  1)  σ: 22 33 222 333 22 33 22 333 222 333 22 33...    

                    Σ:  2   2    3     3    2   2   2    3     3     3    2   2   

 

Έστω:   WM= 2233222333223322333222333 τότε έσοςμε 

                            ̅̅ ̅̅ ̅ 
 

               2) σ: 333 222 333 22 33 22 333 222 333... 

                   Σ:   3     3     3    2   2   2    3     3     3 

 

Έστω:  WN = 333 222 333 22 33 22   τότε έσοςμε               ̅̅ ̅̅  

 

  


